2012-2013 6TH GRADE CONTEST

Answers

26.

If Marlon the mailman had sunny weather on
exactly 12 of 30 days last month, on what percent
of days was the weather not sunny?

A) 36% B) 40% C) 60% D) 64%

27.

Last month I spent $24 on magnets that cost 80¢ -
each, and this month I spent $24 on magnets that | '}
cost $1.20 each. The average cost per magnet was {8

A) $0.92 B) $0.96 C) $1.00 D) $1.04

28.

On a number line, _?_is the same distance from
1.75 as it is from 7.25.

A) 275 B)325 C)375 D)45

26.

27.

28.

29.

23 x3%4x45x 67 x910 =

A) 215 X 321 B) 220 X 331 C) 215 X 340 D) 2105 X 3280

29.

30.

In a garage, the ratio of red cars to black cars is 8:5, and the ratio of black
cars to white cars is 3:4. The minimum number of cars in the garage is

A) 20 B) 59 C) 74 D) 91

30.

31.

The sum of 6 consecutive integers, the largest of which is 30, is equal
to the sum of 10 consecutive integers, the largest of which is

A) 17 B) 18 G 21 D) 26

31.

32.

If a radius of a circle whose area is 367 cm? equals the width of a rec-
tangle, and the diameter of the circle is half the length of the rectan-
gle, then the perimeter of the rectangle is

A) 60 cm B) 90 cm C) 144 cm D) 172 cm

32.

33.

I wrote a list of consecutive positive integers beginning with 1. I then
removed all multiples of 4, and I had 2345 integers left. What was the
largest integer on my list after the numbers were removed?

A) 3126 B) 3127 C) 3129 D) 3130

33.

At the start of my temporary job, I needed to load an average of 120 boxes a
day in order to finish my job on time. At first I
loaded 90 boxes a day. I then had 6 days left to
load the remaining 1200 boxes. How many
days did I have in all for this temporary job?

A)10 B)16 C)22 D)26

35.

Each day last week I counted 50% more leaves
than I had counted the day before. If I counted
2430 leaves last Friday, how many had I
counted the Sunday before that Friday?

34.

A) 160 B) 240 C) 280 D) 320

The end of the contest (&} 6
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Time Do not open this booklet until you are told by your teacher to begin.
You might be unable to finish all 35 questions in the 30 minutes allowed.

Instructions

Scores Please remember that this is a contest, and not a test—there is no
“passing” or “failing” score. Few students score as high as 28 points
(80% correct). Students with half that, 14 points, should be commended!

Format, Point Value, & Eligibility Every answerisan A, B, C, or D.
Write answers in the Answers column. A correct answer is worth 1 point.
Unanswered questions get no credit. You may use a calculator.

Copyright © 2013 by Mathematics Leagues Inc.
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